Supplemental Figures 2A-2J

Predicted trajectories of cognitive
performance by levels of dietary exposure,
stratifying by baseline age (50y vs. 70y):
hypothetical population with fixed
covariates: Interval model
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2C. CVLT, delayed free recall, total score
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Abbreviations: BVRT=Benton Visual Retention Test; CVLT=California Verbal Learning Test; DS-B=Digits Span-
Backwards; DS-F=Digits Span-Forward; MMSE=Mini-Mental State Examination; NAS=Nutrient Adequacy Score;
Trails A=Trailmaking test, part A; Trails B=Trailmaking test, part B; VFT-C=Category fluency part of the verbal
fluency test; VFT-L=Letter fluency part of the verbal fluency test.

Effect of caffeine is shown for participants aged either 50y or 70y at baseline (from stratified models <70y and
270y(See Table 2)). The effect is in a hypothetical population (50% men, 50% women), NH whites, mean
education years=16y, baseline year=2000, non-smokers, mean BMI=25, baseline caloric consumption=2000
kcal/d, baseline NAS=10, baseline alcohol intake=10g/d.

Effect of NAS is shown for participants aged either 50y or 70y at baseline (from stratified models <70y and =270y(See
Table 2)). The effect is in a hypothetical population (50% men, 50% women), NH whites, mean education
years=16y, baseline year=2000, non-smokers, mean BMI=25, baseline caloric consumption=2000 kcal/d, baseline
caffeine =0 mg/d, baseline alcohol intake=10g/d.

Effect of alcohol is shown for participants aged either 50y or 70y at baseline (from stratified models <70y and =70y(See
Table 2)). The effect is in a hypothetical population (50% men, 50% women), NH whites, mean education
years=16y, baseline year=2000, non-smokers, mean BMI=25, baseline caloric consumption=2000 kcal/d, baseline
caffeine =0 mg/d, baseline NAS=10.



